EREAAER NEEARBESZR-I=3% 2 HER

 EHAATTRENE > OB (B [)
4 2A 884 900 648 1, 600 108 4,158
EES 811 1, 800 1,080 1, 600 108 5 417
4 N 884 370 0 650 108 2,030
3 2 A 884 370 648 650 108 2,678
EAE 1 EES 811 1,310 1,080 650 108 3,977
. 4 N 884 370 0 390 108 1,770
(PREE%E16, 692) 2 2A 884 370 648 390 108 2,418
B=E 811 490 1,080 390 108 2,897
4 N 884 0 0 300 108 1,310
1 2N 884 0 648 300 108 1,958
E=E 811 490 1.080 300 108 2. 807
4 N 932 600 0 1, 600 108 3, 258
4 2 A 932 900 648 1, 600 108 4,206
B=E 856 1, 800 1,080 1,600 108 5,462
4 N 932 370 0 650 108 2,078
3 2N 932 370 648 650 108 2,126
= E= 856 1,310 1,080 650 108 4,022
ENiE2 4 N 932 370 0 390 108 1,818
(PRFE%E19, 616) 2 2 A 932 370 648 390 108 2,466
B=E 856 490 1,080 390 108 2,942
4 N 932 0 0 300 108 1, 358
1 2N 932 0 648 300 108 2,006
E=E 856 490 1.080 300 108 2. 852
4 N 993 600 0 1, 600 108 3, 319
4 2A 993 900 648 1, 600 108 4,267
B=E 917 1, 800 1,080 1, 600 108 5,523
4 N 993 370 0 650 108 2,139
3 2N 993 370 648 650 108 2,181
= &= 917 1,310 1,080 650 108 4,083
ENES 4 AN 993 370 0 390 108 1,879
(PR %826, 931) 2 2A 993 370 648 390 108 2,527
B=E 917 490 1,080 390 108 3, 003
4 N 993 0 0 300 108 1,419
1 2N 993 0 648 300 108 2,067
E= 917 490 1.080 300 108 2.913
4 N 1,044 600 0 1, 600 108 3,370
4 2A 1, 044 900 648 1, 600 108 4,318
B=E 969 1, 800 1,080 1, 600 108 5,575
4 N 1, 044 370 0 650 108 2,190
3 2 A 1,044 370 648 650 108 2,838
= &= 969 1,310 1,080 650 108 4,135
ENE4 4 N 1,044 370 0 390 108 1,930
(PR %830, 806) 2 2A 1, 044 370 648 390 108 2,578
A= 969 490 1,080 390 108 3, 055
4 N 1, 044 0 0 300 108 1, 470
1 2 A 1,044 0 648 300 108 2,118
E= 969 490 1.080 300 108 2.965
4 N 1,09/ 600 0 1, 600 108 3,423
4 2A 1,097 900 648 1, 600 108 4,371
A= 1,020 1,800 1,080 1, 600 108 5,626
4 N 1,097 370 0 650 108 2,243
3 2 A 1,097 370 648 650 108 2,891
EHES EES 1,020 1,310 1,080 650 108 4,186
= 4 N 1,097 370 0 390 108 1,983
(PR %836, 065) 2 2A 1,097 370 648 390 108 2,631
A= 1,020 490 1,080 390 108 3,106
4 N 1,097 0 0 300 108 1,523
1 2 A 1,097 0 648 300 108 2,11
= 1,020 490 1,080 300 108 3,016

XNERRIZIAE = BEHY—EXE (7153~1039A/8) + ®"HEHME (24M/8)

OCRE (1B8IH) :Eﬁﬁ 450 | B& 500 . ¥& 650M
WFhhrimEShET,
H—ERRHAHEREME T 4 (18M/H) Y—ERRBHAFERIEME I 0 (12A/8) H—ERRHAHEREMEDT (6M/8)
XEAODNTVEHDIELRHY
FUE (184M/F8) HEEER - REXEHENE G4M/H) HREEME GA/E) RAFAREE G1A/EX)
BRHUNEYT—La UEEME (240M/8) HEERHMEMNAEZAME (120Mm/8)
EERECEME (120M/8) NEBELEREMEI BHECHD2.9% NMEBELEREMEL HBHELHD1.6%)

¥ ERLUSMIBERNFEET D ENTEVET,

OREBEEHRTHFLINDIBES A M) — e | BEEMHE
X [NREFIL-t—H— - AR - L—VEE 108 216
F o Yry - FRARY - N\OrE 54 108
TN EEEEFI=-PINIPYEE a3 27 54
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OBESEET 158
GBREREE
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